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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER 11  EXAMINATION — SUMMER-2015

Subject Code: 3300015 Date: 10/06 /2015
Subject Name: Fundamental of Mechanical Engineering

Time: 10:30 AM TO 01:00 PM

Instructions:
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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Total Marks: 70

Q.1 Answer any seven out of ten. 14
1.  Enlist types of gear train.
2. Name various methods of power transmission.
3.  What do you mean by foundry?
4.  Give various types of washers.
5. Classified I.C. engine according to method of ignition.
6. Enlist types of fluid flow.
7.  Give example of impulse turbine and reaction turbine.
8.  Give name of various material handling equipments?
9. Explain slip of belt.
10. Enlist types of cranes.
Q.2 (a) State safety norms to be followed for preventing accidents in power 03
transmission.
OR
(a) Discuss use of mechanical engineering in day to day life 03
(b)  Explain uses of (1) bolt (2) washer (3) coupling 03
OR
(b) Explain uses of (1) rivet (2) screw driver (3) hammer 03
(c) Enlist types of belt drive and explain compound belt drive. 04
OR
(c) Enlist types of gear train and explain compound gear train. 04
(d) Explain common troubles and remedies of pump. 04
OR
(d) Explain arc welding with figure. 04
Q.3 (a) Explain priming processin pump. 03
OR
(a) Enlist equipments which are used in gas welding process. 03
(b) Explain process of getting cast material. 03
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OR
Enlist metal forming operations.
Give comparison between soldering and brazing.
OR
Give comparison between 2 stroke engine and 4 stroke engines.
Give classification of steam turbine.
OR
Give classification of boilers.

Draw the neat sketch of Cochran boiler.
OR
Define (1) viscosity (2) density (3) steady flow.
Give difference between S.I. engine and C.l. engine.
OR
Draw the neat sketch of pelton wheel turbine.
Explain single stage reciprocating air compressor. Also give any two
applications of air compressor.

Give difference between reciprocating pump and centrifugal pump.
Explain direct acting hydraulic lift.
Explain need of material handling?

Give the name of material handling equipments use for following processes.

(1) Lifting of heavy articles.
(2) Transport human from one floor to another.
(3) Handling material in the sea.
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